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
- is the preposition DIA plus the ablative of agency from the neuter singular relative pronoun HOS, meaning “through which” and referring back to the neuter singular noun HUDWR, “water.”
- is the nominative subject from the masculine singular article and noun KOSMOS, meaning “the world.”  With this we have the correlative adverb of time TOTE, which means “at that time.”  “The world at that time” is a reference to the earth prior to the universal flood.

 - is the instrumental of manner from the neuter singular noun HUDWR, which is translated “with water.”  The word in the instrumental indicates the manner in which the action of the verb is carried out.

“through which [water] the world at that time…was destroyed,”
 - is the nominative masculine singular aorist passive participle from the verb KATAKLUZW, which means “to be flooded.”

The nominative masculine singular refers to the masculine singular noun HO KOSMOS, the world.


The aorist tense is a culminative aorist, which looks at the destruction of the world in its entirety but regards it from the viewpoint of its existing results.


The passive voice indicates that the world received the action of being destroyed.


The participle is instrumental indicating the means by which the world was destroyed. 

- is the third person singular aorist middle indicative from the verb APOLLUMI, which means in the middle voice “to be destroyed, to be ruined.”

The aorist tense is a gnomic aorist, which is used to describe a universal truth or generally accepted fact.


The middle voice is an indirect middle in which the subject, the world, acted upon itself to produce the action.


The indicative mood is declarative for a simple statement of fact.

“by having been flooded with water.”
2 Peter 3:6 corrected translation
“through which [water] the world at that time was destroyed, by having been flooded with water.”
Explanation:
1.  Peter’s argument and illustration is quite simple here. 


a.  There will be unbelievers who will appear at the end of the Church Age who will ridicule the righteousness, virtue, and integrity of God.


b.  They will accomplish this through rejection of the word of God.


c.  They reject the doctrine of the Second Advent of Christ.


d.  They contend that nothing has changed since the beginning of creation; therefore nothing will change in the future.


e.  However, Peter points out that the word of God continues to be faithful and true throughout human history as is demonstrated by the continued existence of the universe and the continued sustaining of planet earth.


f.  Planet earth has continued to exist because of God’s system of taking care of the planet through the function of water and the principle of weather.

2.  Then Peter slams home his illustration to counter the argument by the false teachers that nothing has changed since the beginning of the world.


a.  There has in fact been a great change in the world and that change came about through the universal flood.


b.  This great change in the earth resulted from God’s judgment upon all the unbelievers who had rejected His word.


c.  Just as those unbelievers who mocked and ridiculed God in the days of Noah before the world was drastically changed by the universal flood, so these unbelievers who mock and ridicule God at the end of the Church Age and at the end of human history will face the drastic changes in the world that take place with the Tribulation which follows the Church Age and the destruction of the universe which follows the end of human history.

3.  We already looked at the subject of the universal flood in 2 Pet 2:5, which says, “and He [Jesus Christ] did not spare the ancient world, but as the eighth one He protected Noah, the herald of righteousness, when He brought the flood on the world of the impious.”
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